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Which of the following are goals of doing a thorough Ensuring a match between the intervention and the 
contextual assessment? needs and resources of the population of interest 

Evaluating the effectiveness of an intervention 
Developing a plan for sustainability 
Designing a research project testing 
implementation strategies 

Which of the following is an example of an inner The complexity of coordinating transportation to 
setting factor creating a barrier to implementation? cancer screening 

Health insurance policies will not cover the 
screening under current law 
Staff do not know the latest evidence for breast 
cancer screening 
The organization does not expect, reward, or 
support innovation 

The site you are working with has identified the major Inner Context 
barrier in their context assessment as people not Individuals 
having knowledge about the intervention and therefore Outer Context 
most people do not believe that the intervention will Process 
be effective. What domain does this represent? 
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